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6:   
Why are winters more severe in Southern Hemisphere than in the Northern Hemisphere? 

A.  Earth is tilted towards the Sun in the Northern Hemisphere 
B.  Northern Hemisphere receives more sunlight 
C.  Because of more iceberg activity in Southern Hemisphere 
D.  Southern Hemisphere is less inhabited 
   

7:   
Which of the following climatic characteristic is related to tropical deserts? 

A.  Low Pressure throughout the year 
B.  Most of the rain falls in winter 
C.  Very high daily range of temperature 
D.  Very low daily range of temperature 
   

   

8:   
Monsoon effect is also experienced in 

A.  East Africa 
B.  Nile Basin 
C.  South Africa 
D.  West Africa 
   

   

   
10:   
The greatest one year precipitation is in 

A.  South Africa 

B.  U.S.A. 

C.  Malaysia 

D.  India 
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11:   
The hottest place in the world is 

A.  Teheran, Iran 

B. Jaisalmer, India 

C.  Dallol, Ethiopia 

D.  Azizia, Libya 

   
12:   
The lowest winter temperature in the world is of? 

A.  Ottawa 

B. Mexico city 

C.  Moscow 

D.  Verkhoyansk 

   
13:   
The hottest part of China in summer is 

A.  Gobi desert 

B. Si river 

C.  Tarim basin 

D.  Tibetan Plateau 

   
14:   
The temperature decreases towards poles, because 

A.  At poles, the snow does not melt. 

B. The cold regions do not absorb sun rays. 

C.  The movement of cold wind is towards poles. 

D.  The sun rays falling per unit area are less at poles. 
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